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Homework 3, Solution
TA : Jay Vanzara
Q.3) (15 points)

a) JPNZ
 - 
Immediate mode


b) MVAC
-
Implicit mode


c) NOT
-
Implicit mode

Q.10) (15 points)


R = 30,

PC = 10,
X = 20

a) LDAC 10

=
11


b) LDAC (10)

=
12


c) LDAC R

=
30


d) LDAC @R

=
31


e) LDAC #10

=
10


f) LDAC $10

=
23


g) LDAC 10(X)
=
31

Q.11) (15 points)


R = 20,

PC = 30,
X = 10


a) LDAC 10

=
11


b) LDAC (10)

=
12


c) LDAC R

=
20


d) LDAC @R

=
21


e) LDAC #10

=
10


f) LDAC $10

=
43


g) LDAC 10(X)
=
31

Q.12) (15 points)
a) MUL T,B,C
ADD T,T,A

ADD X,T,D

b) MOV T,B

MUL T.C

ADD T,A

ADD T,D

MOV X,T

c) LAOD B

MUL C

ADD A

ADD D

STORE X

d) PUSH B

PUSH C

MUL

PUSH A

ADD

PUSH D

ADD
Q.19) (20 points)


CLAC



 


STAC A


STAC C


LDAC B, 1000H

Loop:
LDAC C


INAC


STAC C

MVAC

LDAC B

ADD

STAC A

STAC B

LDAC n

SUB

JPNZ Loop

LDAC A

STAC 1000H

Q.20) (20 points)

LDA 1000H

MOV B, A

LDA 100AH

MOV H, A ;          HL = A

XRA A

MOV C,A ;   C = A = O

Loop:   MOV A,C

ADD M ;         A = A + M[HL]

            MOV C,A

DCR  H ;          HL = HL -1

MOV H,A

SUB B;       A = HL - B

JNZ Loop   

MOV A,C

STA 1000H

